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1	Introduction
RAN2 discussed details of SL DRX operation at RAN2#117-e and made working assumptions for some issues. In this contribution, we would like to confirm the working assumptions as agreements. 
2	Discussion
RAN2 made the following working assumptions on details of SL DRX operation at RAN2#117-e. 
Agreement on SL DRX open issues:
28:	Working assumption: if there is no SL grant in the SL DRX active time of the destination that has data to be sent, trigger resource reselection.
32:	Working assumption: For mode-1 re-transmission grant, if the re-transmission grant is dropped due to no Rx-UE in active time, Tx-UE report NACK to network via PUCCH

For the working assumption in 28, some companies mentioned it might be related to how the candidate resources are provided by PHY layer to MAC layer during the discussion last e-meeting. If at least some subsets of resources corresponding to SL DRX active time are provided to MAC layer, we may not have such problem case. In our view, the working assumption in 28 is still helpful when the subsets of resources provided by PHY layer are not enough to transmit all data during SL active time. Note it does not give any harm for other case (resource reselection will not be triggered if enough subsets of resources are provided by PHY layer).
[Proposal 1]: RAN2 is asked to confirm the working assumption “if there is no SL grant in the SL DRX active time of the destination that has data to be sent, trigger resource reselection.” as an agreement.

For the working assumption in 32, we understand the working assumption may have some problem, however as discussed, the opponent option (ACK) also have similar level problem. We think all companies understood each problem and more companies supported NACK-based option, so unless any new problem is raised for the working assumption compared to the opponent option, it is proposed to confirm it as an agreement.  
[Proposal 2]: RAN2 is asked to confirm the working assumption “For mode-1 re-transmission grant, if the re-transmission grant is dropped due to no Rx-UE in active time, Tx-UE report NACK to network via PUCCH” as an agreement.
3	Conclusion
[bookmark: _GoBack]We have seen the working assumption made last e-meeting and the following proposals are made.
[Proposal 1]: RAN2 is asked to confirm the working assumption “if there is no SL grant in the SL DRX active time of the destination that has data to be sent, trigger resource reselection.” as an agreement.
[Proposal 2]: RAN2 is asked to confirm the working assumption “For mode-1 re-transmission grant, if the re-transmission grant is dropped due to no Rx-UE in active time, Tx-UE report NACK to network via PUCCH” as an agreement.

